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The figures in the margin indicate Sull marks
Jor the questions

Answer either in English or in Assamese

1. Answer the following as directed : 1x10=10
wers fRarTRa e Seg o

(@) John Rawls is a liberalist / neo-
liberalist / neo-realist thinker.

( Choose the correct answer )

T AR, G TTRORMA [ F9-Sreerl
-3z IR |

(% Teh! Ak Sty )
22A/44 ( Turn Over )




(2)

(b) Who amongst the following is the writer

(c)

(@)

20A/44

of the book, Pojitics Among Nations : The
Struggle for Power and Peace?

Politics Among Nations : The Struggle

Jor Power ang Peace g (FlC1 oAl
?

() E. H. Carr
2. 9. 3

(iv) Francig Fukuyama
l “Ei’fﬁm
( Choose the correct answer )
(o= Tech q1f Bferedl )

In Which

Crisis be year did the Cuban Missile

gin?
ji'qwﬁﬁﬂmwﬁ%?

(e)

(9)

(h)

()

22A/44

(3)

Where did the first NAM Summit held?
NAM 9 224939 SAflee 'S (2% ?

SEATO was formed in the year 1946 /
1947 / 1948 [/ 1954.

( Choose the correct answer )

SEATO 58% [/ 5584 [/ 358y /
32¢8 TS 515 P41 02T |

(% o300 AR Sfenear )

Adolf Hitler pioneered the Fascist
Movement in Italy.

( Write True or False )

G 254 TWare @Ham W A6
SRR |

(om 1 wram foran )

In which year did the Soviet Union
collapse and separate into a number of
different countries?

o oo @fert TR crow 2 frggm
o A5 T R

Who instituted the reforms of ‘Glasnost’
and ‘Perestroika’ in Soviet Union?
@&fSEd Lo @@ ‘A e
“CTRERIIY ST FRfRe 2

( Turn QOuver )




0)

2. Answer the following questions :

(4)

Council of Westphalia was by nature
a/an Strategic alliance / International
treaty / Peace treaty / Defence treaty.

( Choose the correct answer )

2PSTOST acaBeaom R e CRPET
B | A e / M P/ TR

i

( o= Taqeer 912 Sfenear )

T 1 2 e oy

(b)

()

22A/44

‘

Treaty of Westphalia in regard to
Internationag Relations.

AL o fficefires sacElEE
I G 1 e S 21

;?;Hte any two reasons of the rise of
ﬁ;ao after the World War 11,
o R s

EO
I B | T By R ol
What g .
World’?o YOU mean by the term ‘Third
VO R e g

( Continued )

2x5=10

(S)

(d) Name any two regional organizations.

TRTCA 751 Sl oo = s |

(e) Mention any two challenges of post-Cold
War Russia.

Mod @ 999 E AR Ko o
ORI SCEY 9 |

3. Answer any four of the following questions :
5x4=20

TS il erpTYRd Reie BiRGR See fors -

(a) Discuss the significance of the feminist

approach in the study of International
Relations.

BRGNS TS TR qES
OIS 41 |

(b)) Write a note on the causes of
disintegration of Soviet Union.

®FSRED TR foRR FRPIT 8o
<t BT foran |

(c) Write about the key features of Marxian
Approach to International Relations.

SRR TeAe Wi st
(BT forar |

22A/44 ( Turn Over )
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.

(6)

(d) Discuss briefly on the concept of

Neo-liberalism in International
Relations.
SRSEN IS T-Srerre Ry 26
SICAToAT 47 |

(e) Write a note on the features of the Third
World.
Do R @B eore @l Gt o |

(/  Mention the causes responsible for the
eémergence of alternative power centres
in post-Cold War period.

B G s SRR S —
PR Ty 47 |

Answer the following questions -
TS f SpRyER Ted fope -

(@ Explain the various phases  of
émergence  of International State
system. 10

SRR B IR S fafen
T 41 1 TR

Or / Fiz5r
Discuss the natyre and subject-matter
of the study of International Relations.
4+6=10

R SR [
WWW| G i

( Continued )

(] Explain

(c)

| 74

AL inciples of
enthau’s six principies
Morg How is Neo-realism

political realism. 6+4=10

alism?
different from re
oA’y AEASE Wﬁﬂﬁ%ﬁ%mrm
WIW—W@‘HWWWﬁW.
' Or / 7
Discuss the stages of development of
isc

i ions as an academic
International Relation b

discipline.

S R o SIBedE AR S
FETPR, Sl 1
What is Cold War? Explain the phases

3+7=10
of Cold War.
Sreet 3a 1 27 0w Tad TEHR W 0

Or / i34l

d

fon frad IRV TR FAFTTL

EZIN
res of Third World

(@) Discuss the featu 10
Countries.
HICEAD 41
B R PP PRI
( Turn Over )
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(8)

Or / «iz31

What is NAM? Discuss the significance
of NAM in the contemporary World
politics. 2+8=10

NAM 5? Efie fy IsAifes NAMS
BEQ A AL 4] |

* & &
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